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Choose the best choice:

46. To earn a/an .......... and support his family, he wrote magazine articles and stories.
a. life b. alive c. living d. live
47. Neighbors ........ him a kind person who is ready to help others, while some people see him
as a danger.
a. consider b. hope C. increase d. collect

48. 1t'll be difficult to repair this bridge in such a short time............

a. while b. future c. during d. span
49. | walked a lot and got too tired, the museum was ..................... | thought.
a. the farthest b. farther than c. as far as d. far away
50. | think bacteria ................ among ............... creatures of the world.
a. is - more wonderful b. is — the most wonderful
c. are — more wonderful d. are — the most wonderful
51. The exam was .....cccevevnenennnn.. we expected; she ......... gives us a usual exam.
a. harder than - hard b. harder than - hardly
c. as hard as - hardly d. as hard as - hard
52, i, you get up every day, ......... time you will have to do your work.
a. Earlier — more b. The earlier - the more
c. Early- much d. The early —the much

Cloze passage:
A rain forest is a place where there is lots of rain. Rain forests are home to great ...53...... of

plants and animals. It seems that more than half of the world’s plant and animal

Conservationists who work to protect animals and plants are looking for ways to save the rain
forests and ways that people can use the forests without ......... 56...... them. People are

learning how to grow nuts, seeds, and other crops in the rain forest.

53. a. a number b. numbers ¢. number d. the number
54. a. kinds b. types c. things d. species
55. a. wonder b. care c. wood d. gold

56. a. destroying b. to destroy c. destroy d. are destroying

©
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Read the passage and answer the questions below.

In2001, Matt Nagle was a 25-year-old football star. Then one night he had a bad accident that
resulted in his spinal cord being cut. Matt could not move at all and could not do anything
alone. Matt could not even stay alive. Scientists kept doing research to find answers. They were
trying to make machines to help paralyzed patients. A company which did research on brain
was searching for ways to use brain waves. They chose Matt as the first person to try a new
technology. They wanted to do an experiment that used machines to follow orders from inside
the brain.

In June 2004, the doctors implanted a chip into Matt's brain. This chip could run machines

with his thoughts. Matt could send simple messages to a computer with this chip. He could
change channels on the TV. Matt could play computer games and turn lights on and off. All of
these things he could do just by thinking about them.
Matt worked for months to get the messages to move from his brain to computer. It was very
hard. The technology was difficult. The doctors were worried that chip might injure his body.
They also worried that it might hurt his brain and thinking. Matt wanted to fight to get better.

He kept fighting in hopes of trying to help make things better for other people like himself.

57. "Implanted a chip into Matt's brain "means .....................

a. planted a type of plant in his brain b. put a computer chip into his brain

c. added apps to his brain d. moved some messages to his brain

58. What did the doctors worry would happen?

a. There would be damage to his mind and body. b. He wouldn’t be able to fight.
c. He would get out of control. d. He would damage the chip.
59. What could Matt use his mind to do?

a. To type letters, dial the phone b. To run, jump and fight
c. To turn lights on and off or switch TV channels d. To play football or cards
60. From reading this passage, we can guess that Matt was a person who.........

a. didn’t like to do hard things. b. was able to use a computer.

c. didn’t like to give up. d. thought a lot about computers.








